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(a) Explain the income method to measure GDP.

(10)
(b) What 1s stagflation and when did it occur? How

did it change economist’s views? (8)
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(a) What are the three approaches to measuring
economic activity? Why do they give the same

answer? Explain. (10)
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8. (a) What do you mean by output gap? Explain positive
and negative output gap. (8)

(b) Write a short note on the following: (10)
(i) Implicit Deflator
(ii) Corn Economy

(iii) Open market operations
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What is this person’s demand for money
when the interest rate is 5% and 10%

respectively?

Using part (i), explain graphically how
interest rate affect money demand.

Suppose that the interest rate is 10%. In
percentage terms, what happens to this
person’s demand for money if her yearly
income is reduced by 50%?

Suppose that interest rate is 5%. In
percentage terms, what happens to this
person’s demand for money if her yearly
income is reduced by 50%2 (8)

(=) W%mwmﬁ%?m%é@#ﬁtw
T A ¥ WRedr 3w = Ra (Yt
% weEa qA)

(W) 7= A fr o =af o afs s Se0000 2
u@ﬁﬂﬁﬁ%ﬁﬁ:ﬁamﬂ#ﬂhwoa%

3

(b) Given the following information about an economy :

(&)

Gross private domestic investment = 40
Government purchases of goods and services = 30
Gross natio.nal product (GNP) = 200

Current account balance = —20

Taxes = 60

Government transfer payments to the domestic
private sector = 25

Interest payments from the government to the
domestic private sector = 15 (Assume all interest
payments by the government g0 to domestic
households)

Factor income received from rest of world = 7
Factor payments made to rest of world = 9

Find the following, assuming that government
investment is zero :

(i) Consumption
(i) Net exports

(iii) GDP

P1.0.
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(iv) Net factor payments from abroad
(v) Private saving
(vi) Government saving

(vii) National saving
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6. (a) Why do we call mechanisms such as proportional

income taxes and the welfare system automatic
stabilizers? Explain carefully how and why these
mechanisms affects fluctuations in output. (10)

(b) Explain the concept of money multiplier. What is
the relationship between supply of money, demand

for money and money multiplier? ()
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(a) What do you mean by multiplier? Show the effects
of changes in fiscal policy on the equilibrium level
of income. (With the help of diagram) (10)

(b) Suppose that a person’s yearly income is $60000.
Also suppose that this person’s money demand

P.T.D.
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5. (a) How are desired consumption and desired savings
affected by increase in current income expected

future income and wealth? (9

(b) Explain the goods market equilibrium in the open
economy. (With the help of diagram) (9)
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3. (a) What do you mean by cyclically adjusted surplus
and why it might be more useful than the actual
or unadjusted budget surplus? (Diagram required)

(10)

(b) What do you mean by business cycle? Explain the
four stages of business cycle with the help of
diagram. (8)
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4. (a) What do you mean by unintended inventory
investment? Explain the situation when it becomes
negative and positive with help of diagram. (8)

(b) Suppose we have an economy with the following
function : (10)

C = 50 + 0.8Y,
I =70

G = 200

TR = 100

t = 0.20

(i) Calculate the equilibrium level of income
and the multiplier in this model.

(i) Calculate budget surplus, BS.
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(iii) Suppose that t increases to 0.25. What is
the new equilibrium income? And the new

multiplier?

(iv) Calculate the change in the budget surplus.
Would you expect the change in the budget
surplus to be more or less if ¢ = 0.9 rather
than 0.8?

(v) Can you expldin why the multiplier is 1

when t=1?
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